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205 - SC - FIN - 01 : FINANCIAL MARKETS AND
BANKING  OPERATIONS
(2019 Pattern) (Semester-II)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidate:

1) Draw neat labelled diagram wherever necessary.
2) Figures to the right indicate full marks.
3) Attempt all the questions.
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Q1) Solve any Five(out of eight).

a) Define the term derivatives. [2]

b) List out various types of options. [2]

c) Who controls the capital market of India. [2]

i) SEBI

ii) RBI

iii) IRDA

iv) NABARD

d) ________ is the most volatile market. [2]

i) Pull Money Market

ii) Call Money Market

iii) Capital Market

iv) Issue Market

e) Money Market is regulated by _________. [2]

i) RBI

ii) SEBI

iii) Govt. of India

iv) IRDA
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f) ________ is a place where financial assets are created or transferred.[2]
i) Capital market
ii) Money market
iii) Financial Market
iv) Economic Market

g) Define the term ‘RTGS’. [2]
h) List out the types of ATMs. [2]

Q2) Solve any two (out of three).
a) Distinguish between NEFT and RTGS. [5]
b) Explain the role of Money Market in India. [5]
c) Explain the concept of Co-operative bank in detail. [5]

Q3) Solve any one.
a) Illustrate the various capital market instruments. [10]

OR
b) Interpret the role of Specialized Banks in the economic development of

India. [10]

Q4) Solve any one.
a) Analyze the role of Central Bank in Money Market. [10]

OR
b) Explain in detail the process of ‘IPO’. [10]

Q5) Solve any one.
a) ‘Banks are an important financial intermediary in the financial system’.

Evaluate. [10]
OR

b) Evaluate the various Global Debt Instruments used in Capital Market.[10]
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